

Ergebnisliste 18. Pfungstädter Ostersachpreis-Turnier
vom 25. April 2011

#	Name	Passnr.	Verein	R1	R2	R3	R4	Ges	Schnitt
1	Wiemer, Thomas	25211	MGC Millennium Lorsch	23	25	20	22	90	22,50
2	Osnabrügge, Jörn	26349	SV Dreieichenhain Abt. Bahnengolf	23	20	27	22	92	23,00
3	Dippelhofer, René	45139	1. MGC Mannheim 1968	24	27	23	20	94	23,50
4	Crößmann, Corinna	CrößmannCor		24	24	25	22	95	23,75
5	Jäger, Michael	40980	BGSV Bad Homburg	24	26	21	25	96	24,00
6	Crößmann, Ursula	44760	SV Dreieichenhain Abt. Bahnengolf	20	26	28	22	96	24,00
7	Ettmar, Andreas	41364	MSW Stockstadt	22	25	25	25	97	24,25
8	Pester, Manfred	26809	TSV Pfungstadt, Abt. Bahnengolf	23	26	22	26	97	24,25
9	Arnold, Mark	35780	SG Arheilgen Abt. Bahnengolf	24	23	23	28	98	24,50
10	Krumay, Patricia	42429	BGSV Bad Homburg	20	26	25	27	98	24,50
11	Eller, Tim	28184	TSV Pfungstadt, Abt. Bahnengolf	24	26	25	24	99	24,75
12	Pester, Magnus	32976	TSV Pfungstadt, Abt. Bahnengolf	25	26	23	25	99	24,75
13	Kohler, Bernd	35098	SV Dreieichenhain Abt. Bahnengolf	23	28	22	26	99	24,75
14	Brune, Lutz	26815	MSW Stockstadt	25	29	24	22	100	25,00
15	Pester, Philipp	32975	SG Arheilgen Abt. Bahnengolf	28	24	24	25	101	25,25
16	Froin, Lothar	37677	MSC Bensheim-Auerbach	26	23	25	28	102	25,50
17	Eichsteller, Roland	5570	BGSV Bad Homburg	24	23	26	29	102	25,50
18	Huber, Eric	38389	BGSV Bad Homburg	26	28	26	23	103	25,75
19	Buhl, Christian	BuhlChr		25	24	29	26	104	26,00
20	Wiemer, Beate	42659	MGC Millennium Lorsch	25	24	31	25	105	26,25
21	Pochert, Elke	37676	MSC Bensheim-Auerbach	28	25	28	25	106	26,50
22	Steinhoff, Marc	49085	SG Arheilgen Abt. Bahnengolf	26	30	30	24	110	27,50
23	Reul, Brigitte	37449	BGSV Bad Homburg	29	33	26	22	110	27,50
24	Wolyniak, Martin	37276	SV Dreieichenhain Abt. Bahnengolf	29	31	28	25	113	28,25
25	Bellanger, Hans-Jürgen	36192	1. MGC Mannheim 1968	30	28	23	32	113	28,25
26	Arnold, Franziska	35778	BGSV Bad Homburg	29	27	29	29	114	28,50
27	Lerch, Oliver	34317	BGSV Bad Homburg	29	26	28	31	114	28,50
28	Frenzel, Dieter	60882	MGC Millennium Lorsch	26	28	28	32	114	28,50
29	Wimmer, Kirsten	33708	MSC Bensheim-Auerbach	36	28	25	26	115	28,75
30	Frank, Rolf	38490	BGSV Bad Homburg	32	24	28	32	116	29,00
31	Arnold, Günter	35779	BGSV Bad Homburg	32	27	23	34	116	29,00
32	Kantor, Harald	38341	BGSV Bad Homburg	34	27	34	23	118	29,50
33	Wimmer, Marina	WimmerMar		33	32	30	25	120	30,00
34	Nöll, Torsten	34142	BGSV Bad Homburg	26	30	37	27	120	30,00
35	Conen, Patrick	ConenPat		25	32	30	36	123	30,75
36	Hübner, Marina	45220	SG Weiterstadt 1886	40	27	27	29	123	30,75
37	Solarski, Heike	30548	KGC Waldstadion, Frankfurt am Main	27	31	32	35	125	31,25
38	Lauterfeld, Aylin	34469	MSW Stockstadt	31	39	29	28	127	31,75
39	Dingeldein, Heinz	6737	BGSV Bad Homburg	40	31	30	26	127	31,75
40	Sänger, Wilhelm	6140	SG Weiterstadt 1886	38	34	32	29	133	33,25
41	Homm, Winfried	33149	BGSV Bad Homburg	34	35	32	33	134	33,50
42	Jäschke, Wolfgang	37347	BGSV Bad Homburg	38	29	31	36	134	33,50
43	Schieblich, Wolfgang	37451	SG Weiterstadt 1886	38	37	29	39	143	35,75
44	Homm, Marie	33150	BGSV Bad Homburg	39	36	37	40	152	38,00
45	Jäger, Bernhard	JägerBer		47	46	39	30	162	40,50
46	Ladendorf, Ilka	37450	BGSV Bad Homburg	38	47	35	46	166	41,50
47	Bur, Martin	BurrMar		58	32	39	42	171	42,75
48	Suchy, Dagmar	SuchyDag		48	47	43	41	179	44,75
49	Krisch, Sandra	KrischSan		55	47	45	50	197	49,25
50	Wimmer, Timothy	WimmerTim		63	48	49	47	207	51,75
51	Sickmann, Matthias	SickmannMat		51	57	53	54	215	53,75

Startliste Sonntag, 25. April 2011 10:00 Uhr

##	Passnr.	Spieler1	-	Passnr.	Spieler2	-	Passnr.	Spieler3
1	28184	Eller, Tim	-	ConenPat	Conen, Patrick	-	32975	Pester, Philipp
2	34142	Nöll, Torsten	-	WimmerMar	Wimmer, Marina	-	38341	Kantor, Harald
3	38490	Frank, Rolf	-	33708	Wimmer, Kirsten	-	37276	Wolyniak, Martin
4	6737	Dingeldein, Heinz	-	42659	Wiemer, Beate	-	44760	Crößmann, Ursula
5	34317	Lerch, Oliver	-	25211	Wiemer, Thomas	-	JägerBer	Jäger, Bernhard
6	37449	Reul, Brigitte	-	32976	Pester, Magnus	-	6140	Sänger, Wilhelm
7	33150	Homm, Marie	-	41364	Ettmar, Andreas	-	26349	Osnabrügge, Jörn
8	33149	Homm, Winfried	-	34469	Lauterfeld, Aylin	-	37677	Froin, Lothar
9	37450	Ladendorf, Ilka	-	26815	Brune, Lutz	-	45220	Hübner, Marina
10	37347	Jäschke, Wolfgang	-	30548	Solarski, Heike	-	37676	Pochert, Elke
11	40980	Jäger, Michael	-	CrößmannCor	Crößmann, Corinna	-	60882	Frenzel, Dieter
12	BuhlChr	Buhl, Christian	-	35778	Arnold, Franziska	-	SuchyDag	Suchy, Dagmar
13	5570	Eichsteller, Roland	-	37451	Schieblich, Wolfgang	-	45139	Dippelhofer, René
14	38389	Huber, Eric	-	36192	Bellanger, Hans-Jürgen	-	35098	Kohler, Bernd
15	49085	Steinhoff, Marc	-	35780	Arnold, Mark	-	BurrMar	Bur, Martin
16	35779	Arnold, Günter	-	KrischSan	Krisch, Sandra	-	42429	Krumay, Patricia
17	26809	Pester, Manfred	-	SickmannMat	Sickmann, Matthias	-	WimmerTim	Wimmer, Timothy
TL:	26809	Pester, Manfred						
OS:	25211	Wiemer, Thomas						
S:	42429	Krumay, Patricia						
S:	30548	Solarski, Heike						

Bahnstatistik 18. Ostersachpreis-Turnier

	S	P	M	S	P	V	B	T	N	S									
	a	a	i	u	a	u	r	ü	i	c	h								
	l	l	t	m	o	l	k	c	e	k	l								
	t	t	e	s	k	a	a	e	r	e	e								
	o	o	e	r	h	k	k	r	e	e	e								
	1	2	3	4	5	6	7	8	9	10	11								
	1	2	3	4	5	6	7	8	9	10	11								
1	27	124	143	97	131	96	111	101	148	125	113	103	166	98	95	100	89	96	1963
2	150	64	31	102	42	58	90	91	31	74	60	57	25	103	72	68	64	88	2540
3	21	13	13	5	24	28	3	8	13	5	25	20	9	2	18	20	24	14	795
4	4	1	6	0	1	7	0	3	5	0	5	12	2	1	10	7	10	2	304
5	1	2	4	0	3	7	0	0	4	0	1	5	1	0	4	3	2	2	195
6	1	0	4	0	1	2	0	1	2	0	0	3	0	0	1	4	7	0	156
7	0	0	3	0	2	6	0	0	1	0	0	4	1	0	4	2	8	2	231
	2,0	1,5	1,6	1,5	1,6	2,0	1,5	1,6	1,5	1,4	1,6	1,9	1,3	1,5	1,9	1,8	2,1	1,7	30,3

